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ECONOMICS
( Major )
Paper : 5.6

( Development Policy and the Indian
Economy )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
*  for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
Oere frar erpTRe Tes for

() Name the person who -calculated
national income in India for the first
time.

TRES Y4 JEE P BT WH S F4
FSFIFE A 41 |

(b) According to 2011 Census, what was
the sex ratio of India?

303> 9 EFPEA We SRy e EoYIS

e wnifee 2
(c) Define poverty gap.
wRueR <9 vise f |
(d) What is food security?
3 3 2
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(e)

(g)

2. Answer the following questions 3

(2)

Write one important objective of land
reform in India.

SRed P FHR b1 gyl Soae i |

Mention one major problem faced by
microenterprises of India.

SREA FY TP I @ 461 2
ST SeEd 41 |

Write one point of difference between
large and medium industries.

28 I TG SePTIRa W <l Al {71 |

weTe il eppTEd e fore

(@)

(b)

(¢

(d)
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Define birthrate and death rate.
Tl FF S Tg) 2 el feq |

Write two causes of educated

unemployment in India.

Sed FiftFs foream o1 Frae for

Point out two main limitations of public

distribution system in India.
SRS AaEd] fioqd R o d4E el

Tefenis oy

Mention two important features of the
Industrial Policy of 1991.

S85% R Soe e o1 wFel e
TCEY 91|

( Continued )

Ox4=8

3. Answer any three of the following :

(3)

wers fRarad R e fofibr Tes o -

(@)

(b)

(c)

(@

(e)

4. Answer any three of the following :

Explain any five features of India’s
national income.

weq BN wEe R Awbr b
[T AT

Suggest five measures to check the
rapid growth of population in India.
SRS we GPRAl 3R QI FEE Ao
T SRR |

Explain the causes of poverty in India.
SqSq TRTeR FETHR T F

Suggest five measures to improve
agricultural productivity of India.

Tet FRY TerEAeTel TAe TR 06
T SIS |

Explain briefly the importance of
industries in the development process of
India.

SHeq T dfEue SCUPTRY gFY VYLE
70T 3 |

were fRAARd i @ fofer Bes o

(@)
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Discuss the basic features of Indian
economy.

RO AT Jo1 CAREBPTIR SCaow < |

5x3=15

10x3=30
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(4)

(b) Explain the different factors
responsible for inequality of income in
India. Write briefly the various
measures taken by the Government to
reduce inequality. 5+5=10
SRed  HA  WMOR  I@ R
ffon Sofmepige TR 0 | Sl 2P FRAtE
51 212 91 FRfew ompTR v e o

(¢) Discuss the major barriers to
agricultural growth in India. 10

SRS AT 3% A4 TUPTHR SACABAT 41 |

(d) Analyze the positive and negative
impacts of Green Revolution in Indian

agriculture. 5+5=10
TSRO AT CTE Re FANE IF A
O AR (Y&l

(e) Critically discuss the role of large
industries in India’s economic
development. 10
SReq weoe TS JRR SO B
TR SCEAbAl P41 |

() Compare the industrial development
strategies of India in the pre-reform and

post-reform periods. 10
AF-TREFR T RFAEAS] IO S{e]
Qe T (FETIR P

* & %
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